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Direction :

S

HTET TGT Common Paper 2018 B

R -1/ PART = |

A faerE g fRwensmer / CHILD DEVELOPMENT AND PEDAGOGY
Rasr : Fraafifed wodt & awv 3 & f qad SR [ gl

AeFE-aa’ & an § Frsifeg 3 @

PF-A1 F9H T8 T& ¥ ?

(1) g8 afFa-8a & us g ¥

(2) & ‘W@ WA A’ (Make Believe
Play) ® W & o stm oimey 21

(3) 99 UE e auRd © )

(4) =& BRI GIAEEH B

et/ el sTerer v e B
(1) 9 STepYem &1

(2) Aferre arereer

(3) afiss armar &

(4) gfee afer

fr=rifed & @ @FH-@1 F99 wiass 5

T 8 B Heel F @ J@ e 7

(1) 78 qita=s & 9@ hed ae H Ryd
Brar 81

(2) ge Ao gadl gftkaret & e
FHT |

(3) g8 W9 ICTEH H FE HET E |-
(4) 7 9=F & ¥ THE § Heg e o |

frtifarr & @ farg gftespior &t 9@ Arar
? o aw fawE s gad gfea @ e ?

(1) famt & dsmemass fasma & s
(2) FAFEER

(3) arnfse siferm faard

(4) uiftfeerferam &= forarea

Level-2/3210

p

Answer the following questions by selecting the most appropriate option

Which of the following is nof truc about
dramatic play 7
(1) Itisa form of active play.

(2) Itis known as make believe play.

(3) It involve overt behaviour.

(4) Itis always reproductive.

'Dyscalculia’ is a type of
(1) Locomotor Disability
(2) Learning Disability

(3) Intellectual Disability

(4) Visual Impairment

Which of the following is not true about

the Broca's arca of brain ?

(1) Itis located in the left frontal lobe.

(2) It supports grammatical processing.

(3) It is responsible for language
production.

(4) It is responsible for comprehending
word meaning.

Which of the following theory assumes
that Child Development is not a
continuous process ?

(1) Cognitive Development theory of
Piaget

(2) Behaviourism
(3) Social learning theory
(4) Ecological system theory

P. T.Q.
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FIFEAHA = 05 FHEE-AT ¥ e
% dvd § fa=itea @ @ few gfemm &
AT A § 7

(1) =gerard ghesm =

(2) STEErE gRemer 7

(3) wdar giear

(4) FEHEE FReor

Frifed & & #m-ar oo fig 3

(1) @ F9EH

(2) g&T

(3) T

(4) T TEET

g % T & GeH # Fyeifed ¥ &

FH-T1 I TE 7 & 7

(1) To-fFmedl @ d= Y d9ed &
T %A 2l AR B

2) g @1 & TI-AT T U@
Ao BT ST 8 |

(3) TF T aid |l @ HeEr g
g5 & 1Y Fedl ANl 2|

(4) I@ T F I WA H@ A
=g § I9YF 8 I 2|

g 1 FrE f&gid’ (Three Stratum
Theory) &1 1 % :

(1) fams & 20 (2) & %

(3) F@a &z (4) %Hed & AT

Level-2/3210

[4]
|

The statement 'Personality is nothing
but a set of learned responses’, best
describes which of the following view

about personality ?

(1) Behaviouristic view
(2) Structuralist view

(3) Functionalist view

(4) Cognitivist view

Which of the following is nmot an

example of newborn reflexes’ ?
(1) Eye blink

(2) Sucking

(3) Swimming

(4) Driving Car

Which of the following is noft true about
children's play ?

(1) The number

decrease with increasing age.

of play activities

(2) Play becomes increasingly social
with increasing age.

(3) The number of playmates increases
with increasing age.
(4) Play become increasingly sex-

appropriate with increasing age.

The 'Three Stratum Theory' of
Intelligence was given by :

(1) Piaget
(3) Carrol

(2) Binnet

(4) Cattle
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9. IR A F R=h

10.

L

2

T

HCH-INCT U T-I"a' gl-é

TR B G IR e § 7
(1) 93ems

(2) TH

(3) TTRTeRReT -

4) Ferems

i & & B w9 g oD 2

(1) TR orEes WeF amery
T 7

(2) Frasge o YWes @ @
T B

Q) T STEIN ofeeE aEErt @
T B

4) PFosE omEws A ‘ofomy
I H Th HEEY! FRS £ |

& SHT 5 ‘afew 38 TR
BT B

(1) sfsFamTs s &
(2) HIYTHE ST I
(3) W< I

4) F Ry wd 78 ¥

IR ©F ge oMuR g8 a1 W@ o H
A GI& TN B A& I@ A FH, T
I8 W W @ B

(1) s wfa &

(2) Hat oefra a1
(3) wishamH® Ty &
(4) uETes Sfa &

Level-2/3210

[S]

10.

g g M

12.

Four year old Binny started wetting her

N ] }nnm

bed after her parents bi Ings nom

baby. Which of the following type
'defense mechanism' it is ?

e T=0

€ ancw

(1) Regression
(2) Suppression
(3) Rationalization

(4) Displacement

Which of the following statement is not
true ?

(1) Classical conditioning deals with
voluntary behaviours.

(2) Operant conditioning deals with
voluntary behaviours.

3)

Classical conditioning deals with
involuntary behaviours.

(4) In operant conditioning,
‘consequences' are important in
framing an association.

Knowing 'how to ride a bicycle' is an
example of :

(1) Procedural knowledge
(2) Declarative knowledge
(3) Explicit knowledge
(4) No option is correct

If a child is sharing with you what he

did after he got up in the morning, he is
using his :

(1) Semantic Memory
(2) Sensory Register
(3) Procedura] Memory
(4) Episodic Memory

P.T.0,
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13.

14.

15.

16.

= g Ry W o 3 @
B (Triarchial) e & TR
Frifha & @ 29-a1 Ifa & & THT
T ?

(1) Rsdyomes gfs

(2) THH &

(3) &g -

(4) A g

W gE FR & e S dd 8,
9 PR F YT e R oA 98 8
AT 8| 8 IS ©

(1) HBRHS GrseH B -
(2) FHEH TTae H
(3) TEHERIHE &8 Fl
(4) THNED T8 A

T2 FU9 g A0 do gere,
geme, freied § 8§ R
Srpar @ ORI T 8
RS 9 gam ¢

(1) gedrT @ A & S
(2) T wfeard A

(3) arEdR

(4) S & A T TR

19

?

dar 3 Reder-dig & @ A 99
F7 R o1, 0g T R ST S
QW@EWW@WW
w o Raa @ ger fell @ g
mam?ﬁa%a?amafﬁm%

[6]

13.

14.

15.

16.

—a 1c HO! A

Which of the following type 15 #E% €
type of Intelligence, as given In
Sternberg's  Triarchial Theory of

successful intelligence ?
(1) Analytical Intelligence
(2) Creative Intelligence
(3) Musical Intelligence

(4) Practical Intelligence

The seat belt buzzer of a car, stops as
soon as the driver put on the seat belt. It

is an example of :
(1) Positive Reinforcement

(2) Negative Reinforcement

Positive Punishment
(4)

Negative Punishment

The example 'you scratch my back and I

will scratch yours', indicates which type

of morality as given by Piaget ?

(1) Beginning of Morality of Co-
operation

(2) Pre-conventional morality
3)

4)

Realism

Not related to moral concern

Meeta has overcome her fear of toy-
snakes. However on one occasion her
fear returned when she found toy-snake
on her bed. Such return of fear can be
termed as :

(1) Stimulus Generalization
(2) Stimulus Discrimination
(3) Spontaneous Recovery
(4) Extinction
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17.

18.

19.

[7]

F=ifed § ¥ D P THY
.“:maﬁéﬁ'%mﬁaﬁaa?%?

%)) %W%R@ﬁﬁ@:ﬂ%

Q) T TR 3 T D oo @ oy
g iR s 3

Q) T I IRl @ Ay Y R

= @ # g @ QT
T B TR MR A @y w9 @
Y F THAT e

) T’ I FE N I AW YRR
T THOAES WA Y F W

AT 2
Frfeted ® @ f9-a1 Resey gmmiisr
& ufhar 3 Srrla 787 ofrar § 7

(1) g &7 @ oART ZFaer @
graer

(2) gERis &9 | SFgAIRT HFE &
fate &

(3) wHIRTE ANghT & famma
(4) STHBET FFRIX PN FFAE -

Rt argfrar @ omgft @ I & R
Rt a1y SEius @ SEM & Fed ©

(1) RIS G
(2) RIS JAe
3) g8
4) IF

Level-2/3210

[B]

17. Which of the following is not true about
'Zone of Proximal Development' ?

(1) Ttisrelated to Vygotsky's Theory.

(2) It sets the upper limit on what the
child is capable to learn.

(3) It is a range of tasks that a learner
cannot perform without help of

others but yet cannot perform

independently.

(4) It is the upper limit of a task that a
learner can successfully perform
independently.

18. Out of the following alternative which
one is not comes under processes in
socialization ?

(1) Leaning to behave in socially
approved way

(2) Playing approved social roles
(3) Development of social attitudes

(4) Approval of egocentric behaviour

19. Presentation of an unpleasent stimulus

to decrease the occurrence of a response
is known as :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Punishment

(4) Motivator

P.T.O.
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20. FewE F AN, Ol AR

21.

22.

i # X 3@ B da @
(1) 9@ W e

(2) 99T WAk AAfcrebal &l

(3) e e @ .

(4) SfcERaT @ |feh

FAeeR & fowE & oiRRgfE T
Rrara & orgar, ‘Aa-Rar & e

Pt & & fpm o  @efeq B 7

(1) g&q @
(2) &g @
(3) "l ao
(4) TF

Freqifipd § § PIF-a1 FUF T 7@ o

(1) dfes o @ S S
A4 T T €

(2) ot aEEaT gA AE A IQ
Brfyag &7 & 70 Y &4 Bl =R

(3)@%&%186&‘@%'@{&
Bt 21

(4) Az AT SAfeFT  STETHCT
It & FraTs ST 2 |

lLevel-2/3210

[8]

20.

21.

22,

According to Kohlberg, Good Boy/Good

Girl orientation indicates :

(1) Pre conventional Morality

(2) Post conventional Morality

(3) Conventional Morality

(4) Relative Morality

Which of the following system contains

'Parents Work Place’ per the
Bronfenbrenner's Ecological Theory of

as

Development ?

(1) Micro System
(2) Macro System
(3) Meso System

(4) Exo System

Which of the following statement is not

correct ?

(1) Intellectual Disability and Learning
Disability are not same.

(2) A child with learning disability

essentially has an 1Q score less than
70.

(3)

Intellectual Disability occurs before
age 18.

(4) Intellectual Disability and learning

Disability both are Developmental
Disability.
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23.

24.

25.

26.

27.

A SIbT Ol SR & A TR

Byl Rhar oar ¥, IR v oy Y
(1) AIHS ST

(2) TN I

() ol s

(4) RIS T

‘w&ﬁw’aﬁmmma%:
(1) dgora fnes 3

(2) R &z 3

(3) fo o Rex I .

4) o Fo greET J

S & ARW 401 & R @ R
3 W A v A Y w R @
-8y & Ak e § 7

(1) &= & T A AR
Q) R aWa ek
(3) THEY -
(4) THIHIT

fr=rifed § @ #9-d ofer e 3
GeTeHeh foepr @t ueh ufshar 7&f 8 7

(1) qfee (2) STREERIBLT
(3) IR (4) QM

Freiifer & & Ae-ar MR T RA M
e F T TER 7§ 7

(1) i g -

(2) sl g

(3) b wd TRRhE s

(4) TS e

Level-2/3210

[9]

23.

24.

25.

26.

27,

[B]

The Assessment done during or before
instruction is known as :

(1) Summative Assessment
(2) Formative Assessment
(3) Formal Assessment

(4) Diagnostic Assessment

'Autism' was first described by :
(1) Samuel Kirk
(2) Leo Kanner
(3) B.F. Skinner
(4) J. B. Watson

During the developmental period of
foetus' head is well developed before his
legs. This best describes which of the
following tendency of development ?

(I) Proximo-distal
(2) Cephalo-caudal
(3) Uniformity
(4) Integration

Which of the following is not a process
of Cognitive Development as given by

Piaget ?
(1) Assimilation (2) Accommodation

(3) Adaptation (4) Shaping

Which of the following is not a type of
intelligence as proposed by Gardener ?
(1) Musical Intelligence

(2) Linguistic Intelligence

(3) Logico-Mathematical Intelligence
(4) Creative Intelligence

P.T.O.
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28.

29.

30.

Fraifed & & Fi-a e o d
Hafe 727 & ?

(1) o=

(2) @ gt

(3) QT -

(4) IE9H foseA

T A oY g= @ gy Rem @ 9%

TEd IO e X Yuiedl At o | S

g dEd ¥ R e ax oW ff = @
= 38 Y oz ofag

——rr o
Toe 9% YUieRdl qdl ', dg Gims el

gaa dadl et yefifd &A@
| g5} 1 9% FIER GAOH ATE § :

(1) 5@/ @ e a0 ST H

(2) STENg TS B

(3) Foram-srgay Srgeer &l

(4) T SHETH -
Gﬁamﬁ%aﬁwﬁzﬁm%ﬁmﬁ
a?fmsﬁﬁawé’ram%:

(1)%1%1%1%%?%‘
(2){&@&15&1?9‘6531@13‘

(3) T wfEeEeTh SR H
(4)eﬂqarﬁ?«ramwﬁmmﬁ

[10]

Level-2/3210

28. Which of the following is not related to

29.

30.

the classical conditioning experiment ?
(1) Extinction

(2) Spontaneous Recovery

(3) Shaping

(4) Stimulus Discrimination

A mother gently strokes her infant's
forehead each time immediate before
breast feeding. Soon, she noticed that
the baby's forehead 1is

active

each time
stroked, he makes
movement. The baby's behaviour best

sucking

describes :

(1) Trial and Error learning
(2) Classical Conditioning
(3) Operant Conditioning

(4) Social Learning

In which of the following stage of
Cognitive Development, as described
by Jean Piaget, a child become capable
of understanding 'Conservation' ?

(1) Sensory Motor Stage
(2) Pre-operational Stage
(3) Concrete Operational Stage

(4) Formal Operational Stage
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& ENGLISH)

fodir : FAIIGT 4571 3 S 37 3 firg e} ot A 371

31.

32.

33.

AT TETT BT -
GGG imn Shoy L

(1) 796 3% ¥ & 99 gel w5 —
e "

(2) AR § & B T - @i

@) P @ IR @@ & o -
AHEN,

(4) g o T/ — Rk

e are § TERH UeEY H YA g3

27

() W fegerd § § &8 99 W T
age |

) R & @ 3@ aw ga W
& FHT JEdm |

() T I dH B FAEN, TEE-T
TEoT H qR) ST .

(4) et dRre & Fr, o e A =
ffar <@

orger ity e feed T

(1) 58 + I = Ha

) fag + 7@ =EgE

(3) q + IO = AR -

(®q§+HMH=ﬂQWH

Level-2/3210

34.

35.

36.

37.

S rr P ¥ Ty TOTd FE e 7
St RGN T SIGINES NEARGE R

(1) T (@) deE

(3) ovAdE - (4) g
Jeg-aedd @ g § o faeed
gﬁt{:

(1) drie —

(2) wredsm — Al

(3) #&5s —HIEAT

(AN otz _
Vo) =i oem O

arite g ¥ orge fasc T
(1) foea (2) it -
(3) wfErmer (4) @hee

fPe g ® gewee [{9we & gan
g B ?

(1) 0 &9 o T 37D Fl ® T
(2) S T W B I A= g |
3) T eEt & forw s feae o Sl
(4) FB T B Fo § FETI

P.T.O.
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39.

40.

41.

(4) @Y

‘qagE’ 9= | gy ®
(1) @ 4y
(2) goTq @iy
(3) Rt & .
(4) &9 dfY

fre fhea & @ SuErl &1 WA 787 gon
g7

(1) |
(2) GEIIHHT

(3) FTHEER
(4) |y

oE A g
(1) oM et 99 9= & anwg
B |

2) e ¥ F2 aHE oa ¥
(3) 7B BEgRT dae BN & R ¥
(4) ﬁm%mmmg\*

Level-2/3210

[12]

£
]

43.

44.

45.

o ‘==mret ar oa
STl

Bro e
I Qg4 A =S 9T

g7

(1) 39T T well &1 |

(2) F9IT T8 YT Frg o |

(3) mar ® 3@ ad gg gut 2

(4) 3 a8 gear ot 3T WEA B AT

OUAT =217
Lo Bl

il

o

Fre1 d & wEar=s g
(1) gt & A Ferar o 2|
(2) A BT FRE GAE B
(3) & &l Ua i B

(4) fFET 210 FEd @e @ . B

fr=r # ‘gt o=’ foe faeq & 7872 7
(1) fasma=eman
(2) U

(3) HAHEAE
(4) Bt

‘qE R forear @ g # wgE
(1) Frcaras Brar fshor -

(2) fcrares fram fgrgor

(3) ®@rHarEs fohar fshger

(4) aftArTaras fRar Rishor
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[ 3137 / ENGLISH ]
Direction :_Answer the following questions by selecting the most appropriate option.
46. Choose the word which g spelt 50. "There is a mystery about his death and
correctly the police are looking into it."
(1) Disentigration - The underlined phrasal verb means :
(2) Disintegration (1) To investigate
(3) Dissintegration (2) To take care of
(4) Desintegration (3) To look behind
47. Choose the correct word for the T

48.

49.

following expression :

One who makes maps or charts.
(1) Cartoonist .

(2) Cartographer *

(3) Choreographer

(4) Choirmaster

Fill in the blank with appropriate

conjunction :

cannot be redressed

they are known.

Grievances

................

(1) unless. (2) and

(3) but (4) before

"He wore a turban made of silk."

The underlined words are :
(1) Adverb

(2) Adverb Phrase

(3) Adjective Phrase

(4) Noun Phrase ,

Level-2/3210

51.

on
)

53.

Fill in the blank with appropriate
preposition :

We stayed .. coceiviivis Mumbai for
five days.

(1) in (2) at

(3) into (4) by

Hearing the noise, the boy woke up

(1) Pronoun °
(2) Noun
(3) Verb
(4) Participle

Fill in the blank with the correct
option :

I have not heard the
news.

................

(1) latest -~ -
(2) late
(3) latter

(4) later

P.T.O.
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54. Choose the most appropriate modal for

55.

56.

57.

the blank :
When I was young, I

climb any tree in the forest.
(1) can

(3) may

(2) must
(4) could |

Fill in the blank with appropriate
preposition :

We're going for a drive ........ the
country.

(1) on (2) at

(3) in- (4) for

Fill in the blank by choosing the correct
option :

Be 18 wnvmiisusans his glasses.

(1) look for

(2) look

(3) looking for

(4) will look

Choose the correct answer from the

options below :

"] took it home with me", She said.

(1) She just took it home.

(2) She said she had taken it home with
her. '

(3) She said she would take it home,

(4) She said she will take it home with
her.

Level-2/3210

[14]

58. Choose the correct passive construction

59.

60.

for the given sentence.
They were carrying the injured player
off the field.

(1) The injured player was being carried
off the field.

(2) The injured player will be carried
off the field. -

(3) The injured player must be taken off
the field.

(4) Carry the injured player off the
field.

Choose the correct verb for the blank
from the options below :

i TR round the sun.
(1) move

(2) moved

(3) moves -

(4) shall move

"They arrived soon after."
The word 'after’ is used as :
(1) Preposition

(2) Adverb

(3) Adjective

(4) Conjunction
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HET— Il / PART — il
WM 31eq9 / GENERAL STUDIES

[T A, b S qor qrr T ©F SRS / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

e : [PIGTET 727 & 3T 83 3 oyt af e g

Direction : Answer the following questions by selecting the most appropriate option.

61. ST ST AT F amy HRT ITmEr J 61. Arjun travels half of his journey by train
120 fep¥ii/aver &t Ry T 37T 91T at the speed of 120 km/hr and rest half
P ERT 80 fHHi/Aver &) iy & T ey by car at 80 km/hr. What is his average
g, O Sua olvag Ry a2 2 speed ?
g2
(1) 88 frHt/guer A A (1) 88 km/hr
T 2 ..
) 92 fi/auey e e (2) 92 km/hr
(3) 96 fpHI/gUeT (3) 96 km/hr
(4) 100 fpit/aoeT | (4) 100 km/hr

62. I 11 g 10 94 § @ 90 & dur 62. If 11 oranges are bought for Rs. 10 and

10 gk 11 593 & a9 S0 &, o s sold 10 oranges for Rs. 11. What is the
gfa9T 2 gain in percentage ?
1) 11% 2) 21% - 1) 1% ) 21%
3) 25% 4) 28% (3) 25% 4) 28%

63. o fohddl FR B 2 R § &t & AR 63. Amulya does a piece of work in 2 days

T 6 R H & 21 3l et and Bindu does it in 6 days. In how
Ream BT & =9 @ @ &0 7 many days will the two do it together ?
1) 23 R (1) 273 days
() 32 A, (2) 3/2 days
() 53 R (3) 5/3 days
(4) 3 o9 (4) 3 days
Level-2/321¢ P.T.0.
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64.

65.

66.

67.

20 9/ @ 25 ¥ @ FJW 324 R
R @ 2 71 8, @ 20 ¥@ & 3
feper Fyarep & 7

(1) 124

(2) 140

(3) 200 -

4) 210

Jo & 7 gendh § w6 W E
% & % Usd 1 I 5 oG af adl
dp I H 391 93 B 7

263756429613416391569231654321967
¢ v N '

(1) @&
@ & -
(3) @
(4) @
3y "BORN" & "APQO" %g &y s

3 "LACK" @' "KBBL" Fg f&ar i
¥ @ "GRID" @l e far s :

(1) FSEH
(2) SFHE
(3) FSHE
(4) FHSE
w RfzaR # RBE @@ AR B, mE
F 9T I A # dEr 80 ¥ gy

I e @ g 200 B @ @€ ag
o dedr B 8 7

(1) 20
(3) 52

2) 40
(4) 60 -

Level-2/3210

[16]

64.

65.

66.

67.

A total of 324 coins of 20 paise and 25
paise make a sum of ¥ 71, then number
of 20 paise coins is :

(1) 124

(2) 140

(3) 200

(4) 210

How many 6's are there in the following

number series, each of which is

immediately preceded by 1 or 5 and
immediately followed by 3 or 9 ?

263756429613416391569231654321967
(1) One

(2) Two

(3) Three

(4) Four

If "BORN" is coded as "APQO" and
"LACK" is coded as "KBBL", then
"GRID" will be coded as :

(1) FSEH
(2) SFHE
(3) FSHE
(4) FHSE

There are deer and peacocks in a zoo.

By counting heads they are 80, The

number of their legs is 200. How many
peacocks are there ?

(1) 20 (2) 40
(3) 52 (4) 60
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[17]
68. TS H HNE-H TR By e & 68. Which set of numbers is like the given
e € 7 set 7
2,14.16 2.14. 16
1) 2.7,8 1) 2,7.8
2) 2,9,16 2) 2,9,16
3) 3,21,24 - | 3) 3,21,24
(4) 4,16,18 | 4) 4,16,18
69. PFYT - ' 69. Statements :
I @+t Rt St | 1. All players are doctors.
I g5 Sy d@ias 2| I1. Some doctors are musicians.
ey Conclusions :@
1. B St Raas! F grI-ary st I. Some doctors are players as well as
€t 21 musicians.
11 gt d@fast Sfaey & | I1. All musicians are doctors.
R Y P @e 87 Then which of the following is correct ?
(1) e fepe I eTgaReT S gl (1) Only conclusion I follows.
(2) Fae forepd 1T STFEReT B gl (2) Only conclusion II follows.
(3) St ferepe 1 aem 1T STgaTT F B - (3) Both conclusion I and II follow.
(4) Ta@ fyepd 157 21 11 S7gET QA Bl (4) Neither conclusion I nor II follows.
70. TR+ AT A e, X AR 70. If '+ mean '+, 'x' mean
7 arad '+ i~ & ard 'x' &, '+' mean '+ and - mean 'x', then
16-8x6-2+12="7 16+8x6-2+12=7
0 2 1) 22
@) 24 (2) 24
e 3) 23
4) 120 (4) 120
Level-2/3210 P.T.O.
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-

72.

73.

74.

fr=y oft @7 ofTen 9 ST T ¢
0.5.22.57,116,?

(1) 205
(2) 216
(3) 192
(4) 207

m%m%ww%,aﬁtwﬁm&hﬂ

qft ol X R o B, @ 9@ %‘qm

W S R, @ oF P FW HHA &
(1) 24 @Y
(2) 35T,
(3) 38
(4) 42 #reT
a4 # faw

= o9 d9H

(1) 0 (2) 1.

(3) 2 (4 3

Level-2/3210

T

72.

73.

74.

A is B's sister. C is B's mother, D is C's
father, E is D's mother. then how is A

A

related to D ?

(1) Daughter

(2) Mother

(3) Grand Mother
(4) Grand Father

Find the next term of the following
series :

0,5,22, 57, 116, 7

(1) 205

(2) 216

(3) 192

(4) 207

A tank 1s % part full. If 16 litres of water

is added to the tank, it becomes %part

full, then total capacity of tank is :
(1) 24 litres
(2) 35 litres
(3) 38 litres

(4) 42 litres

What is the number of odd days in a

leap year ”?
(h 0 (2) 1
(3} 2 (4) 3
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75. 98 Bl § B e s Fifoe, forad 75. Find the least number, when divided by
12, 15, 20 3R 54 § 977 233 @ v 12, 15, 20 and 54, leaves in each case a
E T
UL E remainder of 8 : ,‘,mvf\
o w2 | 2
L YR p \o iq ‘
(I) 504 (]) 504 ,: ; E \\" ,\))n/‘ glvﬂ/,
A2 ST L VI,
_’;1)'\‘ ‘?‘I - [J1G\| ;ﬁﬂ
(2) 540 (2) 540 i | ‘>h Al
: 2 b @
(3) 546 (3) 546
(4) 548 (4) 548
76. A A F @ B B IE F 40% FA B 76. If A's income is 40% less than that of B.
@ B & T A & 9 ¥ fhaw ufaer How much percent B's income is more
e B 7 than that of A ?
(1) 25% (1) 25%
) 40% (2) 40%
3) 331% G) 3319
3 3
2 2
4) 66=% - 4) 66=%
3 3
77. 9% B1F A 9 wew s g R 77. Find the least number by which 294
294 P T BH Th Ui it gEm I must be multiplied to make it a perfect
o g 7 square.
(1) 3 (1) 3
2) 4 (2) 4
(3) 6 (3) 6
4) 12 4) 12
Le\:e|-2/3210 P.T.O.
R —
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79.

80.

81.

82.

qer @ ST §EEal @ afred e

(1) 8 2 9
- 2
(—3) 8‘; (4) 3?
A Y T BT

(1) EJNO (2) HMQR
(3) KPSU * (4) NSWX

TeEt dar PR 198 sl & AW
29 & Ay # rgar fear T ¢

(1) gE=& THL.
(2) T @
(3) qETE Il
(4) TEHE @H
Rreiffae @1 gafd I
Sefors = et
A. o o Mo o (i) Ve
B. 3o 3Mgo THO (i) BT
C. THo aMgo Elo (iii) ST
D. To 3o TFo 2o (iv) FEhs
gel %T F
A B ¢ D
(1) (1) . (1) (i) (iv)
@ ) @ Gv) ().
3) (v G GiD) (i)
(4) (i) (i) (i) (v

Level-2/3210

78.

79.

80.

81.

82.

- ; 4 5 6

If the fractions 2332 and — are
58913 11

arranged in ascending order. which one

will be fourth place ?

3 4
1y = 3 =
() 2 2 3

5 6

£ 4) —
(3)I3 lrJII

Find the average of first seven prime
numbers.

() 8 (2) 9

[ P
3) 8— 4 =
(3) = (4) 8=
Find out the odd-one :
(1) EINO (2) HMQR
(3) KPSU (4) NSWX

The Wahabi leader. who was arrested in

charge of Sedition during 19th
century :

(1) Muhammad Zafar

(2) Ghazzan Khan

(3) Mubarak Ali

(4) Salman Khan

Match the following :

Education Institute District
A LLLT (1) Rohtak

B. L.LM (1) Sonipat

C NLD (i1i) Punchkula
D. NLET. (1v) Kurukshetra

Choose the correct code :
A B (% D

() @) @ ) (iv)
(2) @) @) (v) (i) -
3) (v) () i) (i)
(4) (1) (i) (i) (iv)
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84.

85.

86.

(1 &
(2) =
(3) TP
4) X

g & fre dede § 2
(H 71 (2) 93

(3) 76 (4) 68

aﬁawm%aﬁﬁqmﬁw
3 UG &F H (I AMT S o

(1) argt
(2) SidTeT
/9y R
S bl b i

) FHHEA

qI geeeX & AR A fepferfaa el

) faEr #ifi

(a) TR ofaren F gEEd @ |

(b) IR T F AT HEE B
sfRge & o

TrF A @ e FE AT

g7

(1) 39a (a) T B |

(2) 4 (b) TF B!

3) 7 a (a) 3T T & (b) T B

(4) A (a) 3R (b) TA 1

Level-2/3210

[21]

83.

84.

85.

[B]

How many Wildlife Sanctuaries are

there in Jhajjar district ?
(1) Two
(2) Three
(3) One -
(4) Four

How many Tabhsils are there in Haryana ?

(1) 71 (2) 93

(3) 76 (4) 68

The area of Haryana, which was
considered under the sphere of

influence of Bhadanakas during the Pre-
medieval period :

(M
()
{3) Panipat

(4) Kurukshetra

Rewari
Ambala

Consider the following statements about
Lala Murlidhar :

(a) He practiced Law at Ambala.
(b) He attended the first session of
Congress held at Bombay.

Which of the above statement/statements
is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

P.T.O.
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[B]

87.

(o]
o

89.

90.

R

3 o § wpE A0t & aR #§ FrefRad

e X faa Fife

(a) 78 I Wit R’ & &9 F
H S S B

(b) 3 & g A W 9 U
et 1 farepre feRam STRIT |

TEE ¥ O AM-/ENA AT

B ?

(1) Pad (a) TF 81 °

(2) @aa (b) T &1

(3) 7 & (a) 3 7 & (b) T &
@) 3 (a) T (b) T F
R Raerfedt & & fRbew god o

800 Hex ar & wREE @9 - 2018 H
ol q& S

(2) HE H
@) sgen & (4) ReIRA

P B @ @0 B # wR g
91’[:"3'51'3'8'@-1'[%?

(1) ¥dm-
(3) e

(2) W=
(4) R

Level-2/321 0

[22]

87. Consider the following statements about

88.

89.

90.

KMP Expreséway :

(a) It is also known as Western
Peripheral Expressway.

(b) Five new cities will be develo
along with the KMP Expressway.

Which of the above statement/s is/are

true?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

Who among the following athletes won

the Gold in Men's 800 m. race at Asian
Games —2018 ?

(1) Jinson Johnson

(2) Manjit Singh

(3) Arpinder Singh

(4) Rakesh Kumar

Where the Vulture Conservation and
Breeding Center situated ?

(2) Morni

(4) Pinjore

(1) Kairu
(3) Zhabua
Which of the following districts has the
Jowest urban population ?

(2) Mahendragarh
(4) Sirsa

(1) Mewat
(3) Jind
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